
 

  

 

 
 
 
  

 

 

       ,yq;if fzf;fPl;L njhopEl;gtpayhsh;fs; fofk; 
 

 
[Piy 2020 guPl;ir  –  kl;lk; I 

 

 
             gupe;Jiuf;fg;gl;l tpilfs;  

(102) 
 
 
 

         

             (102) tzpf fzpjKk; Gs;sptpgutpaYk; 
                  (BMS) 

 
,yq;if fzf;fPl;Lj; njhopy;El;gtpahsu;fs ; fofk; 

 ,y> 640> ntd;. KWj;njl;Lntd Mde;j efpkp khtj;ij> 
ehNu`d;gpl;b> nfhOk;G - 05 
njh.Ng - 011 2 559 669 

 
fy;tp kw;Wk; gapw;rp gpuptpd; ntspaPL 



 

                                2                            (102) tzpf fzpjKk; Gs;sptpgutpaYk; 
 

102/BMS 

 
 

 

   
 
 

 
 
 
(nkhj;jk; 40 Gs;spfs;) 
 

 

 

tpdh 01 w;fhd gupe;Jiuf;fg;gl;l tpilfs; :  
 
 

1.1  

Vida ,dj;jtu;fs;            = 100% - (70%+22%) = 8% 
nkhj;j rdj;njhif  X - 8%            = 3,200 

efuj;jpYs;s rpq;fsth;fspd; vz;zpf;if = 3,200×
70

8
 

efuj;jpYs;s rpq;fsth;fspd; vz;zpf;if  = 28,000 
 
tpil (2) - 28,000 

 
 

      (03 Gs;spfs;)  
 
 

1.2  

            8y + 8 = 3(2y + 8) 
            8y + 8 = 6y + 24 
            2y       = 16 

            y        = 8 
 
tpil - (4) - 8 

 
 

(03 Gs;spfs;) 
 
 
 
 
 
 

gFjp  - A 

,yq;if fzf;fPl;L njhopEl;gtpayhsh;fs; fofk; 

kl;lk;  I guPl;ir – [Piy 2020 

(102) tzpf fzpjKk; Gs;sptpgutpaYk; 

gupe;Jiuf;fg;gl;l tpilfs; 



 

                                3                            (102) tzpf fzpjKk; Gs;sptpgutpaYk; 
 

102/BMS 

 

1.3       S = x (1+ nr)   
 
 S =  6,000 + (1+(3X 0.08)) 
            S =  6,000  (1.24) 
 S = 7,440 
 

tpil - (3) –Rs. 7,440 
 
 

(03 Gs;spfs;) 
  

1.4         𝑄 =
𝑞1

𝑞0
× 100 

𝑄 =
34

51
× 100  

 
= 67% 
 
tpil (1)-67% 
 

(03 Gs;spfs;) 
 

1.5   

𝑋̅                   =
∑ 𝑥

𝑛
 

 

83                =
(75 + 68 + 86 + 95 + 90) + 𝑥

6
 

 
 83 × 6        = 414 + 𝑥 
 
 498 − 414 = 𝑥 
 
 𝒙                  = 𝟖𝟒 
 

tpil (3) - 84 
 
 
 

 
 

(03 Gs;spfs;) 
 
 
 



 

                                4                            (102) tzpf fzpjKk; Gs;sptpgutpaYk; 
 

102/BMS 

 

 
1.6                   r   =                          [  n ∑ XY -  ∑ X . ∑ Y ] 

                   √{ [n ∑ X2 -  (∑ X)2 ] [n ∑ Y2 -  (∑ Y)2 ]} 

 

          r   =                               (7 X 310.5) – (70 X 30.6) 

                   √ (7 X 952 -702 ) (7 X 134.13 – 30.62 ) 

                  r   =                               2,173.5 – 2,142 

                   √ (6,664-4,900) (938.91– 936.36) 

 

                             =                                         31.5 

                   √ (6,664-4,900) (938.91– 936.36 ) 

                             =                                         31.5 

                                        67.06 

= 0.4697  
          
 

  tpil (4)-0.4697 
(03Gs;spfs;) 

1.7 
 

                                                                               65                                                                                                                          
                                                                                                              45 + 26 +8-X =65 
                                                                                                                X                    = 14                                                                               
                                                                                       
INuhg;gh             45     x= 14           26      8                                                        
                                                                                                          
                    Mrpah    
 
 
vOkhwhfj; njupTnra;ag;gl;l xUtu; Mrpa ehLfSf;F nrd;Ws;shu; vdj; jug;gLkplj;J 
mtu; INuhg;gpa ehLfSf;Fr; nrd;wpUg;gjw;fhd epfo;jfT:  
 
𝟏𝟒

𝟐𝟔
  

 

tpil (3) 
  14

26
 

(03 Gs;spfs;) 



 

                                5                            (102) tzpf fzpjKk; Gs;sptpgutpaYk; 
 

102/BMS 

 

1.8  A=   SRn (R-1) 
            Rn-1 
  
A=   500,000 x 1.14 (1.1-1) 
            1.14-1 

 

A=   500,000 x 1.4641 X 0.1 
            1.4641-1 
 
A=   73,205 
       0.4641 
 
A=   157,735 

 
khw;W Kiw 
 
A=   500,000  
       Cum DCF 10% 

 
A=   500,000  
         3.1698 

 
A=   157,735 

 

 

tpil (2) Rs.157,735/- 
 

 
(03Gs;spfs;) 

1.9        𝑆                = 𝑋(1 + 𝑟/𝑁)𝑛×𝑁 

 

 63,339    = 𝑋 × (1 + 0.12/4)2×4 

 

 𝑋               =
63 339

1.038  

                               = 50,000 

r=tl;b tPjk; 

N=Mz;bYs;s fhyg; gFjpfspd; vz;zpf;if 

X=epfo;jF ngWkjp 

n=Mz;Lfspd; vz;zpf;if 

 

 



 

                                6                            (102) tzpf fzpjKk; Gs;sptpgutpaYk; 
 

102/BMS 

my;yJ 

 

S=X{ 1+r}n 

r= fhyhz;bw;fhd tl;b tPjk; 

n= fhyhz;bd; vz;zpf;if 

 

S=X{ 1+r}n 

63,339=X(1+0.03)8 

X          = 63,339 

                 1.038 

           = 50,000 

 

tpil (2) –Rs.50,000/- 

 

(03 Gs;spfs;) 
  
1.10       𝐓 = 𝟏𝟗𝟖𝐱 + 𝟖𝟒𝟏 
  
 2020 Mk; Mz;bw;fhd x ngWkjp 7 
 
 𝑇 = (198 × 7) + 841 
 
 𝑇 = 𝟐, 𝟐𝟐𝟕 

tpil (3) –Rs.2,227/- 
(03 Gs;spfs;) 

1.11 
 
             A    3 
 B    4 
 C    1 
 D    2 

(02 Gs;spfs;) 
 

 

 



 

                                7                            (102) tzpf fzpjKk; Gs;sptpgutpaYk; 
 

102/BMS 

1.12 

 
 

 
 

 
 

(02 Gs;spfs;) 
 

 

 

 

 

 

 

Nrkpg;Gf;  
fzf;F;fs;

41.6%

epiyahd 
itg;Gfs;:

33.4%

25%

Nrkpg;Gj; jpl;lq;fs;

Nrkpg;;Gf;fzf;F

epiyahd itg;G

eilKiwf; fzf;F

Nrkpg;Gf; fzf;F;fs; thbf;ifahsu;f
spd; vz;zpf;if 

tpfpjhrhuk; (%) ghiffspd; msT  

Nrkpg;Gf;  fzf;F;fs;: 30 30

72
× 100

= 𝟒𝟏. 𝟔% 

30

72
× 360 = 1500  

eilKiwf;  
fzf;F;fs; 

18 18

72
× 100

= 𝟐𝟓% 

18

72
× 360 =  900  

epiyahd itg;G 
fs;: 

24 24

72
× 100

= 𝟑𝟑. 𝟒% 

24

72
× 360 = 1200  

nkhj;jk; 72 100% 360  

 

eilKiwf;  
fzf;F;fs 
25% 



 

                                8                            (102) tzpf fzpjKk; Gs;sptpgutpaYk; 
 

102/BMS 

1.13  
P(A ∪ B) = P(A) + P(B) − P(A ∩ B) 
0.72         = 0.60 + 0.30 − P(A ∩ B) 
P(A ∩ B) = 0.9 − 0.72  
𝐏(𝐀 ∩ 𝐁) = 𝟎. 𝟏𝟖 
 

(02 Gs;spfs;) 
 

 

1.14  $w;W “rupahdJ ” 
(01 Gs;spfs;) 

 

1.15 $w;W “ jtwhdJ ” 
 

(01 Gs;spfs;) 
(nkhj;jk; 40 Gs;spfs;) 

 
 

 
 
 
 
 
 

 

 

 

 

 

 

 

 
 
 
 
 

 

 

 
 

 
 
 
 
 
 

 

 

gFjp A KbT 
 



 

                                9                            (102) tzpf fzpjKk; Gs;sptpgutpaYk; 
 

102/BMS 

 
(nkhj;jk; 40 Gs;spfs;) 

 

 

tpdh 02 w;fhd gupe;Jiuf;fg;gl;l tpilfs;: 
(a) 

 

mj;jpahak; 01 – fzpjj;jpd; mbg;gil vz;zf;fUf;fs; 
 

 
       

(04 Gs;spfs;) 
(b) 

mj;jpahak; 01 – fzpjj;jpd; mbg;gil vz;zf;fUf;fs; 
 

fpuak; &.100/- 
 

fpuak; + ,yhgk;  = tpw;gid tpiy 
100  20        120 
 ?      48,000 
 

Nkirapd; cw;gj;jp fpuak; = 
100

120
× 48,000 

 
      =Rs.  40,000 
 

 
 

(02 Gs;spfs;) 

gFjp - B 
 



 

                                10                            (102) tzpf fzpjKk; Gs;sptpgutpaYk; 
 

102/BMS 

 

 
(c) 

mj;jpahak; 01 – fzpjj;jpd; mbg;gil vz;zf;fUf;fs; 
 

  3x + 2y ≤ 12     1  x + 2y ≤ 6       2 

  

              

  

 

 

 
 
 
 
 

 
 
 
 
 

(03 Gs;spfs;) 
(01 Gs;sp) 

( nkhj;jk; 10 Gs;spfs;) 
 

tpdh 03 w;fhd gupe;Jiuf;fg;gl;l tpilfs;: 
 
mj;jpahak; 03- tzpfj;Jf;fhd epjprhh; nraw;ghl;L mstPLfs; 
; 
 
(a) 
 

TR = p × q (Nfs;tp  * fzpak;)   p =1000 – 2q 
 
TR = (1000 –  2q) × q 
 
TR = 1000q –  2q2  
 
TC    =VC+FC    (epiyahd fpuak; + khWk; fpuak; ) 
 
TC    = 3q2 + 100q + 800 

If  X=0 ,   y=6(0,6) 

If  y=0          ,   X=4(4,0) 

   If x=0  ,  y=3(0,3) 

If y=0  , x=6(6,0) 

3x + 2y ≤ 12 

x + 2y ≤ 6   

jpUg;jpg;gLj;Jfpd;w 
gpuNjrk; 



 

                                11                            (102) tzpf fzpjKk; Gs;sptpgutpaYk; 
 

102/BMS 

  
 

(03 Gs;spfs;) 
(b)    
   ,yhgr; rhu;G (TP)=TR-TC 
 

TP = TR – TC 
 
𝑇𝑃 = (1000q –  2q2) − (3q2 +  100q + 800) 

 

𝑇𝑃 = 1000q − 2q2 − 3q2 − 100q − 800 
 

𝑇𝑃 = 900q–  5q2 − 800  
 

or 

= 180q– q2 − 160  
 

(03 Gs;spfs;) 
(c) 
            D(Tp)   =180-2q    or    900-10q 
              Dq 
 
 
            D2 (Tp)   = -2 < 0 
              Dq 
 
 
,yhgk; cr;rkhFk; Nghjhd tpw;gid myFfs; =>180-2q=0 
                                                                                          2q=180 
                                                                                          q=90 

 
khw;W Kiw fzpg;gPL 
 

TR = 1000q –  2q2   

MR = 1000 – 4q  

 

TC  = 800 + 100q+3q2 

MC = 100 + 6q 

 

,yhgk; cr;rkhFk;NghJ, MR = MC 

1000 – 4q = 100 + 6q 

X = 90 
(04 Gs;spfs;) 

              ( nkhj;jk; 10 Gs;spfs;) 



 

                                12                            (102) tzpf fzpjKk; Gs;sptpgutpaYk; 
 

102/BMS 

 

tpdh 04 w;fhd gupe;Jiuf;fg;gl;l tpilfs;: 
 
mj;jpahak; 05 - ,uz;L mstPl;L khwpfis xg;gply  

 
(a) 

 

x y 𝐱𝟐 xy 

44 550 1,936 24,200 

29 480 841 13,920 

74 630 5,476 46,620 

12 230 144 2,760 

9 240 81 2,160 

50 610 2,500 30,500 

218 2,740 10,978 120,160 

 
b        =          n ∑ xy -  ∑ x . ∑ y 

            (n ∑ x2 -  (∑ x)2 )  

b        =          (6 X 120,160) – (218 X 2,740) 

                         (6 X 10,978) –(218)2  

b        =          720,960 – 597,320 

                       65,868 -47,524  

b        =            123,640 

                          18,344 

b        = 6.74 

 

a        = 𝒀̅ − 𝒃𝑿̅ 
 

a   =
2 ,740

6
− [6.7401 ×

218

6
] 

 
a  =  456.67-244.89 
 
a  =  211.78 
 

Mifapdhy; ,opT tu;f;f Kiwr; rkd;ghL; 
                             Y = a+ bx 

      Y = 211.78 + 6.74x  
 

 
(07 Gs;spfs;) 



 

                                13                            (102) tzpf fzpjKk; Gs;sptpgutpaYk; 
 

102/BMS 

 
(a)   

tpsk;gur; nryT &. 40,000/-. 

 
   Y = 211.78 + 6.74x 

 
   X I khw;wPL nra;jy; = 40 

 
Y = 211.78+ 6.74 (40) 
   = 481.38 
Y = 481,380 
 

vjpu;ghu;f;fg;gLk; tpw;gidg; ngWkjp ;= Rs.481,380/- 

 
 

(03 Gs;spfs;) 
( nkhj;jk; 10 Gs;spfs; ) 

 

tpdh 05 w;fhd gupe;Jiuf;fg;gl;l tpilfs; 
 

mj;jpahak; 04- juT toq;fYk; tpsf;f mstPLk; 
; 

 

 
 

Fwpg;G: fzpg;ghid gad;gLj;jp ,g; ngWkjpfis fzpf;f KbAk;. 
 
(a) ,il       =  ∑ f(x) 
        ∑ f 

                   =  2,750 
    80 
                    = 34.375  

(04 Gs;spfs;) 
 
 

 

fhjj;jpUej;j; Neuk; 
(epkplqf;fspy;) 

kj;jpa 

Gs;sp ( x ) kPbwd; (f) f(x) F(x)2 
10 - 19 14.5 15 217.5 3,153.75 

20 - 29 24.5 9 220.5 5,402.25 

30 - 39 34.5 30 1,035 35,707.5 

40 - 49 44.5 14 623 27,723.5 

50 - 59 54.5 12 654 35,643 

∑f=80 ∑fx=2,750 ∑fx2=107,630 



 

                                14                            (102) tzpf fzpjKk; Gs;sptpgutpaYk; 
 

102/BMS 

(b)  epak tpyfy;  = √
∑ 𝑓𝑥2

∑ 𝑓
−  [𝑥 [𝑥̅]2        

 

 
   

                                     =     107,630     -    34.375    2 

                 √       80             
 
 
                                     =     1,345.375-1,181.64 

                 √     
        
 
                                     =     163.73 

                 √     
 
 
          =12.79 

(04 Gs;spfs;) 
 

(b) khwy; Fzfk; (V) = epak tpyfy; x 100 % 
,il 

                     

                         =  
𝑆𝑡𝑎𝑛𝑑𝑎𝑟𝑑 𝐷𝑒𝑣𝑖𝑎𝑡𝑖𝑜𝑛

𝑀𝑒𝑎𝑛
× 100%                   

 

                          = 
12.79

34.375
× 100 

 
                  

                                    = 37.2%  
 

                             
 
 

(02 Gs;spfs;) 
               (nkhj;jk; 10 Gs;spfs;) 

 
 
 
 
 
 
 
 
 
 
 

gFjp  B KbT 
 



 

                                15                            (102) tzpf fzpjKk; Gs;sptpgutpaYk; 
 

102/BMS 

 
 
 

SECTION - A 
(nkhj;jk; 20 Gs;spfs;) 

  

 

tpdh 06 w;fhd gupe;Jiuf;fg;gl;l tpilfs;: 
(A) 

 

mj;jpahak; 02 – tzpfj;jpw;fhd epjp fzpjk; 
 
(a) 
(i) 
Mz;L I - KjyPL CF –fhRg;gha;r;ry; DF @15%  

fopT tPjk; 
PV - ,w;iwg; 
ngWkjp 

0 (150,000) -                1 (150,000) 

1 - 70,000 0.870 60,900 

2 - 85,000 0.756 64,260 

3 - 50,000 0.658 32,900 

4   NPV=8,060 

 
NPV=8,060 

(04 Gs;spfs;) 
(b) epfu ,w;iwg; ngWkjp rhjfkhdJ. 
      fk;gdpahdJ ,r;nraw;wpl;lj;jpy; KjyPL nra;a Ntz;L;k;      

(02 Gs;spfs;)  
 
(B) 
 
mj;jpahak; 07 – Rl;nlz;Zk; vjph;T $wYk;; 

 
 P0 q0 P1 P0q0 P1q0 

X 20 250 30 5,000 7,500 

Y 18 130 25 2,340 3,250 

Z 40 180 50 7,200 9,000 

       14,540 19,750 
 

 

,yh];ngahupd; tpiyr; Rl;nlz;( 01LP )        = 100
)(

)(

00

01









qp

qp

 
 
     = 19,750 X 100% 
                                                                           14,540 
      

                                                           

gFjp - C 
 



 

                                16                            (102) tzpf fzpjKk; Gs;sptpgutpaYk; 
 

102/BMS 

=135.83%        (04 Gs;spfs;) 
 
 

 
(C) 
 
mj;jpahak; 06- epfo;jfTk; mjd; gpuNahfq;fSk 

(a) 
(i) 

 
 

 
B -  Mzhf ,Uj;jy;                 P – guPl;irapy; rpj;jpaily; 
G -  ngz;zhf ,Uj;jy;  F – guPl;irapy; rpj;jpailahik 

 
(03 Gs;spfs;) 

(ii) 
 

epfo;jfT   =     P (B,P) + P (G,P) 

 

                    =     
45

100
×

15

45
 +  55

100
×

20

55
  

 

                   =     
15

100
+

20

100
 

 

     =     35 

                                   100 
 
khztu; xUtu; guPl;irapy; rpj;jpailtjwfhd epfo;jfT  35% 
 

Mz;fs; 

ngz;fs; 
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102/BMS 

(02 Gs;spfs;) 

 
 
(iii) 
 
njupTnraa;ggll; khztu ; xUtu; Mzhf ,UfF;k; NghJ mtu; guPl;i;rapy; ; 

rpjj;pailahikff;hd epfo;jfT      . =
30 

45
 

  
my;yJ 

              =2 

                                                                                                                               3 

                                                                                                                                                  
(02 Gs;spfs;) 

 
 

(b) 
 
X =Xl;l tPuu; kujd; Xl;lg; Nghl;bia epiwT nra;tjw;fhd Neuk;; (epkplk;) 
 
µ=240  σ =40 
 
 
 Z        =     X  -     µ 
              σ           

 Z        =     X  -  240 

             40           

 

   Z        =     300 - 240 

      40      

           = 60 

              40 

   Z        =  +1.5 
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102/BMS 

 
 
 
 
 

 

     0.4332   

 0.5 

 

                

 

                                                                                               x     

                                              240 300   

  z 

    0         + 1.5 

Pr(X < 300 ) = 0.5 -0.4332 
                  =0.6668 or 93.32% 
  
Xl;l tPuu; kujd; Xl;lg; Nghl;bia epiwT nra;tjw;F 300 epkplq;fSf;Fk; Fiwthd Neuji;j 
vLgg;jwfhd epfoj;fT 93.32%  

(03 Gs;spfs;) 
( nkhj;jk; 20 Gs;spfs;) 
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102/BMS 

Notice:  
 
These answers complied and issued by the Education and Training Division of AAT Sri Lanka constitute 

part and parcel of study material for AAT students.  These should be understood as Suggested Answers to 

question set at AAT Examinations and should not be construed as the “Only” answers, or, for that matter 

even as “Model Answers”. The fundamental objective of this publication is to add completeness to its series 

of study texts, designs especially for the benefit of those students who are engaged in self-studies. These 

are intended to assist them with the exploration of the relevant subject matter and further enhance their 

understanding as well as stay relevant in the art of answering questions at examination level. 
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